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This question paper contains four parts.

L& - I /PART -1

i) Semensg NamssEns@L0 el weflésea . 14x1=14

i) Osr@ssiulL wrom el seafle WEaD gHLmL allenulilener
Carb0shds GNULHLer ellenLulenard Carggl er(pse,Lb.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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(a+2, 4) wHmLd (5, 2a+b) YFw auflenss Camigser FOWD erafled, (a, b) erarLg) :
(1) (2, =2) (<) (5, 1) (&) 2,3 (/) (3, =2
If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a, b) is :
(a) (2, —=2) (b) (5, 1) () (2,3 d (B, =2

65 HMID 117-uler B.CLT.eu-en6u 65m— 117 erem auigalled er(pgib Cumg), ‘m’-@)en
iy :

(1) 4 (=) 2 (&) 1 () 3

If the HCF of 65 and 117 is expressible in the form of 65m— 117, then the value of
‘m’ is :

(a) 4 (b) 2 (c) 1 (d 3

t, Tl e Fal(hS Csmieuflengulier n -eugl 2 ML erafld, tg, —t, @6 L :

(=1) Bn—1)d (=) (8n—2)d (&) (Tn—2)d () (7nd)
If t, is the n'" term of an A.P., then tg —t, is:

n

(a) (8n—1)d (b) (8n-2)d () (7n-2)d (d) (7nd)

X2 —2x—24 wHmb x> -—kx—6 -ullen B.CuT.6u (x—6) erafled, k -ullerm Ly :

(1) 3 (=) 5 () 6 (/) 8
If (x—6) is the HCF of x2—2x—24 and x%2—kx—6, then the value of k is :

(a) 3 b) 5 (c) 6 d) 8

xH+64 (P UTESLOTS MDD ASenL 6T LGeielHeLaTeuDMIET 6Tangé Fnl L GoueimHibd ?
(1) 42 (<) 16x2 (@) 82 () —8x2

Which of the following should be added to make x*+64 a perfect square ?

(a) 4x? (b) 16x2 (c) 8x2 (d) —8x2
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X +4x+4 erem @mulg Leenilig Caraneu X 95Gar(h GQeul (Hib Ldrafsafler
TaTeRilSem

(=1) 0 (=) 1 (8) 0 seeg 1 () 2

The number of points of intersection of the quadratic polynomial x2+4x+4 with
the X-axis is :

(a) O (b) 1 (c) Oorl (d) 2

B\ FUES (P&ECsTanTdD AABC -udléh [C =90° opmitb AC=5 Q&8 ererflldv, AB e :
(1) 2.5 Q&8 (<) 5 Q&8 (@) 10 Q&5 (FF) 52 Q&.8
If AABC is an isosceles triangle with |[C =90° and AC=5 cm, then AB is :

(a) 2.5cm (b) S5cm (c) 10 cm (d) 542 cm

AABC -udév, AD yegl, £BAC -ulflermr @ sw6leully. AB=8 Gg..5, BD=6 @&.15
Hmd DC=3 Qg.15 erafléy LdsHD AC -@en Barbd :
(=1) 6 Q&.15 (<) 4 Q&8 (@) 3 Q&b (FF) 8 Q&5

In a AABC, AD is the bisector of ZBAC. If AB=8 cm, BD=6 cm and DC=3 cm, the
length of the side AC is :

(a) 6 cm (b) 4 cm (c) 3 cm (d) 8cm

(5, 7), (3, p) HMID (6, 6) eranLian e(h CHTLembbSMmel eremed, ‘p’ -udler L] :

(=1) 3 (<) 6 (&) 9 (/) 12
If (5, 7), (3, p) and (6, 6) are collinear, then the value of p’is :
(a) 3 (b) 6 (c) 9 (d) 12

(0, 0) wHmId (-8, 8) ety LeTaflsamer Qenenrs@GHb CaTlIgH@&HEF ClemiGsHsTear
Cariigen smie] :

1
(1) —1 (=) 1 (@) 3 () -8

The slope of the line which is perpendicular to a line joining the points (0, 0) and
(—8, 8)is :

(&) -1 (b) 1 (c) (d -8

1
3
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11.

12.

13.

14.

4

e Camyrsdlern 2 wipb 60 S @. @Gflumer stamib erpn&ECamenmd 30°-a0l(mHg 45°
<48 2 wimD Cung) Camrsdlen Hlperang) x 1S Gemdng) ereafled, X -6om SILIL :

(=) 41.92 8 (=) 43.92 5 (@) 43 15 (FF) 45.6 15

A tower is 60 m high. Its shadow is x metres shorter when the sun’s altitude is
45° than when it had been 30° then ‘X’ is equal to :

(a) 41.92m (b) 43.92m (c) 43m (d) 45.6m

€

I’ QOGEHET YT 2l Q@ Fo AorsCasrearmisaien g liU@ES ser
@aensslLpHL Curg o (Heur@h SHeawrngdler LprirlLy

(=) 4712 g.9 (<) 6712 5.9 (@) 3mr? &. (FF) 8mr? &.

If two solid hemispheres of same base radius T’ units are joined together along
their bases, then curved surface area of this new solid is :

(a) 4mr? sq.units (b) 6mr? sq.units (c) 3wr? sq.units (d) 8wr? sq.units

Q@ 2 (HEneTudlem 4D @\ LLBISTEITD, 2 (HeuTsSIUL L 2 (HeneTudlen Liglw e
Sjerey CEThdslILL L 2 (HeneTullen sarjerenel 6l LOL_MBISTGLD.

(1) &0 (=$)3 (&) 4 () 2

If the radius of the cylinder is doubled, the new volume of the cylinder will be
times the original volume.

(a) same (b) 3 (c) 4 (d) 2

@@ BUMESG Geuame Sl Liugnsrear Hlaspgserargl g Couanar dlenL_&smned
@muushsrer Hlspsse] % erafled % -@er WSHlLiLiTeng :

(1) 2 (<) 1 (&) 3 (/) 1.5

The probability of getting a job for a person is g If the probability of not getting
the job is %, then the value of X’ is :

(a) 2 (b) 1 (c) 3 d) 1.5
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u@&d - II / PART - II

GO : sTemeuCuiend 10 laTésErsE elenLwallGga b, afarm erar 28-&@
SL_L_muwng adlenL wefld&sea|b. 10x2=20

Note : Answer any 10 questions. Question No. 28 is Compulsory.

15. A={1, 2, 3} wbHMD B={x|x ererug 10 -g L& AN usT creanr} erafler, AXB
LHMID BXA yflueuhenns srems.
Let A={1, 2, 3}, B={x|x is a prime number less than 10}. Find AxB and BXA.

16. UL Sl sri Ul (HeTer DLGGMO UL brearg P oHmb Q &6wThki& @& e
o pevelds GN&Sarmg. @Qbs 2memeu (i) samslLewliy peem (i) ULlguied
wpemsafler er(pg)s.

N

The arrow diagram shows a relationship between the sets P and Q. Write the
relation in (i) set builder form (ii) Roster form.

N

17. 13824 =22x3P erafled, ‘@’ wpmid b’ -udlew wHUILE SranTs.
If 13824 =22x 3P, then find ‘@’ and b’.

18. 16, 11,6, 1, ... erenm dal (HECSTLIT cuflensuller —54 eTemig) eTESMETLITCLS 2 ML ?
Which term of an A.P. 16, 11,6, 1, ...is —54 ?
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19. Wemaumd Careneusailem ellevdsliLi L SLIL| STemTs.

p + 2
8p2 + 13p + 5

Find the excluded values of the following expression

p + 2
8p2 + 13p + 5

20. vl [A Qe @ HFLGeuL g AD @ @b. BD=4 @g.05, DC=3 Gg.05 whmyd
AB=6 Q&.18 arafller, AC -enW& STeTs.

A
o

Gﬁs.
©

B C
4 Q&.8. D 3 Qs..8.

In the figure AD is the bisector of |A. If BD=4 cm, DC=3 cm and AB=6 cm, find
AC.

A

&
©

4cm D 3cm C

21. P(-1.5,3),Q(6, —2) bpmid R(—3, 4) @ dlw Lereflser eCr CrrsGamiqed jenoubd
Tas ST_(hs.
Show that the points P(—1.5, 3), Q(6, —2), R(—3, 4) are collinear.

22. (3, —2), (12, 4) eranm YeTeflgeT culld Cgaaid Crrs&Casr®H p’ bomib (6, —2) WwHmILD
(12, 2) eram LeTeflser cupld Gawgin CrrsGsr® ‘qQ° @b, P BaF ‘qQ-&G
QeemTIT@ LT ?

The line ‘p’ passes through the points (3, —2), (12, 4) and the line ‘q’ passes
through the points (6, —2) and (12, 2). Is ‘p’ parallel to ‘q’ ?



23.

24.

25.

26.

27.

28.

(=1, 2) erarw yYerafl aull GFeveugid, Frile] _TS o L wglwrer CrrGamig e

FLOGTUTL O & HTeHTS.

-5
Find the equation of a straight line which has slope = and passing through the
point (—1, 2).

5043 5 2 wrepdrer @ urepuler o &Hulallmbg 30° Qnésds Cameanrsd e

senrullgerer WH(PHFH @em UTTESLILHEDS erale, L WPHEDGL LITaDsELD
@enL_Guiwjerer CFTEnamed STeTs.

From the top of a rock 50./3 m high, the angle of depression of a car on the ground
is observed to be 30°. Find the distance of the car from the rock.

@ Camer algel euellsamamyaier (balloon) &rHm o HSUILIHLD CUTEH DF6m 4Tid
12 Q&85 -edmpBg 16 Q& -8 2 wmHng. Q@@ ypliurlyseier el$gn sramrs.
The radius of a spherical balloon increases from 12 cm to 16 cm as air being

pumped into it. Find the ratio of the surface area of the balloons in the two
cases.

O Y rmG QasrarL @@ sFmbysafler sar erajser 3600 &.6lF.15 wHMHILD
5040 &.0g.15 erafed, 2 wyriseflen NG srehrs.

The volumes of two cones of same base radius are 3600 cm3 and 5040 cm3. Find
the ratio of heights.

Qe BravTBGET @armrad el LiubhEarmer. @ reur () e kiser e b
QeueuGeum (Ppamiser S LLghsTear H&spsse| eremer ?

Two coins are tossed together. What is the probability of getting different faces
on the coins ?

1
p=-* 0=-—Y gafe

, ) > GITEUTS.
Xty Xty P - Q

X Yy 1
If P= , Q= , then find > B
x+y x+y P - Q

6112
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L@&d - III / PART - III

@Ml : sTemeuCuwiend 10 alarés@rsE allenLwallssa|b. alarm crawr 42 -5

Note :

29.

30.

31.

32.

33.

SL_Lmwong eflenLwefldsey L. 10x5=50

Answer any 10 questions. Question No. 42 is Compulsory.

A cratLgl 8- GHILE Gewpeurar @We eTaumsater sawTd, B eremg 8-g allld
@emmeuren LST eranseflen santd wHmd C erarug @rlenl LILienL LIGT 6TewTder e
sentd erafled, sfumiss.

AX(B-C)=(AxB)—-(AxC)

Let A= The set of all natural numbers less than 8, B= The set of all prime

numbers less than 8, C= The set of even prime numbers. Verify
AX(B—-C)=(AxB)—-(AXC).

@ Fal (H56sTT euflenguden 1, m HMID n-peug 2 miLser (pepmCGu x, y LoHMILD
z eratled ameumelameumenm HlemLA&saLb.

(i) x(m-n)+yn-1)+z(l-m)=0
(i) (x—yn+(y—2Ll+(z—x)m=0
If 1th, mth and nt terms of an A.P. are x, y, z resp., then show that :
(i) x(m-n)+yn-1)+z1-m)=0

(ii)) (x—yn+(y—2Ll+(z—x)m=0

@M Fl Hs5egTLir cuflensulfer 6-cug wHMD 8-eug 2 mililseaier aldgn 7 : 9
erefled, 9-eugl wHMID 13-6ug 2 miiLseier eNHH0D &mers.

The ratio of 6" and 8™ term of an A.P. is 7 : 9. Find the ratio of 9t term to 13th
term.

36x*—60x3+61x2—mx+n QG @@ (PP UTEHD erafler m, n < Hlwieuddlen
D LILSEMETS STeuTs.

If 36x*—60x3+61x2—mx+n is a perfect square, find the values of m and n.

f;r’ré;as  pax? —(p+q)2x+ (p+q)2=0.
Solve : pgx?—(p+q)%x+(p+q)2=0.



34.

35.

36.

37.

38.

. . L —13 . .
a, B eremuer 7x?+ax+2=0 -@Q&r pPOEIGET HMILD B—OL=T erafléd, ‘a’ -udle

LG SHTeuTs.

-13
If a, B are the roots of 7x2+ax+2=0 and if B—OL=7- Find the values of ‘@’.

Cgebed Coppsans er(pdl Hlepisselib.

State and prove Thales Theorem.

@@ olwrerd elbrer BHloowsms N CoOLWHEH aLs&@ Crred
1000 &l.15/wenfl Cougsded LPsHDg. 26 CrrsdHed wHGEDTH efwrearnd G
eflwrer Hlevowsens (B Capbg Cuon@ Corédl 1200 &.05/wafl Coussdle
LUD&S DG 1% werfl CrrsHH@EL WnE @@ NbrambsErsE el L
QFTEnV6| eTeLIETE| @(HEHGD ?

An aeroplane after take off from an airport, flies due north at a speed of

1000 km/hr. At the same time, another aeroplane takes off from the same
airport and flies due west at a speed of 1200 km/hr. How far apart will be the two

planes after 1% hours ?

A(-4, -2), B(5, —1), C(6, 5) wpmid D(=7, 6) Y Sweupenn penerll Lataflgermad
Qarearr_ prosrsdlen Lssmiseflen BHLILETNSET e QenemTEISans < enLDSEHEGHLD 6Teus
STL(hS.

A quadrilateral has vertices at A(—4, —2), B(5, —1), C(6, 5) and D(—7, 6). Show
that the mid-points of its sides form a parallelogram.

geoguiler g e yeraflulelmbg 30 5 o wrepdrer s L dHar Gogiemer e(m
Caryrsdlen =g womid 2 FSluller pn&sCaranmmiser wpeppGu 45° Hmid 60° erafle,
Caryrsdlen 2 wWrsmssd sras. (/3 = 1.732)

From a point on the ground, the angles of elevation of the bottom and top of a
tower fixed at the top of a 30 m high building are 45° and 60° respectively. Find
the height of the tower. (\/3 = 1.732)
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39.

40.

41.

42.

10

2w 16 Q& 2 el w @ Fbller el ssarL allgeld ewbs CsmeTsaen
atler Cpyrd Hops Hlaeould 2 drerg. Sprynm <rb 8 g5 whmib CuodHLm
<rb 20 Qg.15 Qararr Qarergsaeaiier ppenwwrsls umred Hrliuiu@dng. e
Ol Lmedlerr aflene ¥ 40 erafled, HlyliLiib uredler Glorss eSleneenuids &meuTs.
A container open at the top is in the form of frustum of a cone of height 16 cm

with radii of its lower and upper ends are 8 cm and 20 cm respectively. Find the
cost of milk which can completely fill the container at the rate of ¥ 40 per litre.

Brgen ererm GUrmuilwied wrenteurm e o (Heneruiler @HLDPLD FnldL|SHET 2 6TeTeumm)
wrdHfl gearerp 2 (Heursdlearmi. wrdflufer Berd 12 G&.l wHMD L b 3 Qg5
<A G. @eubeurm db@er o wFipd 2 QF.5 G HSGLIaTTD BTHeT 2 (HeuTsdw
wrglflufler SaroieTenels SremTs.

Nathan, an engineering student was asked to make a model shaped like a cylinder
with two cones attached at its two ends. The length of the model is 12 cm and its

diameter is 3 cm. If each cone has a height of 2 cm, find the volume of the model
that Nathan made.

50 LOTEMTEUT&ET 2 6TemarT 6(1h euU@LILYed, 28 Gt NCC ullgyb 30 Cuir NSS -gLb LoHmiLd
18 Guir NCC pmib NSS i Cardlpmiaer. ¢ wreanreu FwelriliL] penmudlayd
CambOgHsslLOEDTT. jeum

(i) NCC -uled Q\mBgI, <earmed NSS -6 @evemned

(ii) NSS -& @QmBg, <ermed NCC -udler @evemned

(iii) eeGm eemdled WL (HD CFrbg QMBUUSHETET HlEDSEH6SEMETS &HTas.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both

NCC and NSS. One of the student is selected at random. Find the probability
that

(i The student opted for NCC but not NSS.
(ii) The student opted for NSS but not NCC.

(iii) The student opted for exactly one of them.

x-Qeul_(hggiarreng y-Ceu (Hsgiaiqer eTenel el 5 AHDGSHET S HOTEHE
Qasrar @@ CrrGarLrarg (22, —6) erenm LeTafl il Gawdletmg erefle,
DGCHTLIq 60T FLOGTUTLGOL& SHITEHTS.

Find the equation of the line passing through (22, —6) and having intercept on
x-axis exceeds the intercept on y-axis by 5 units.
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u@&d - IV / PART - IV
GSNILIY : Semesisg efamés@rsEh edlenL wafldsa. 2x8=16

Note : Answer all the questions.

43. (a) AB=5.5 Qg.5 [C =25° bpmid 2& C -uldmbgE AB -&@ cuenruiliLil L
G5815GaT e Herd 4 GF.15 2 enw AABC euenys.
3606V
(b) 6 Q&5 AL perer eul L b euenfhgl eul LsHer enwwsSHalmmg 5 G5
Qg TenevallapieTer e LieTatlenid @GMlisse . liLerafludadmbg il LS5 H&S
QarHCasThs6r cuarhgl, CsTHCET g6 Herhismers Hanrdad (Hs.
(a) Construct a AABC such that AB=5.5 cm, |C =25° and the altitude from C to
AB is 4 cm.
OR

(b) Draw the two tangents from a point which is 5 cm away from the centre of a
circle of diameter 6 cm. Also, measure the lengths of the tangents.

44. (a) y=x>—4x+3 -Wer auemyULLD GUMTHF DASET (PO x> —6x+9=0 ererm
FOTUTL LG ST&HHe]LD.
NV
(b) x2—4x+4=0 ereny F&TUT g6 ueFLLLD euanrhg Siedlerm Semenoeniis
S M.
(a) Draw the graph of y=x2—4x+3 and use it to solve x2—6x+9=0.
OR
(b) Draw the graph of x2—4x+4=0 and state the nature of their solution.

-00o0-



	6112 Part III Tam+Eng Mathematics

